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Stringverarbeitung

Richtungsflag setzen (RF=1)
Richtungsflag 16schen (RF=0)

Lade AL von DS:SI; SI:=SI+1, falls RF=0; SI:=SI-1, falls
RF=1

Lade AX von DS:SI; SI:=SI+2, falls RF=0; SI:=SI-2, falls
RF=1

Speichere AL nach ES:DI; DI:=DI+1, falls RF=0; DI:=DI-1,
falls RF=1

Speichere AX nach ES:DI; DI:=DI+2, falls RF=0; DI:=DI-2,
falls RF=1

STOSB ergéanzt um : CX:=CX-1; Befehlswiederholung, falls
CX<>0

STOSW ergéanzt um : CX:=CX-1; Befehlswiederholung, falls
CX<>0

ES:DI:=DS:SI; SI:=SI+1, DI:=DI+1 falls RF=0; SI:=SI-1,
DI:=DI-1 falls RF=1

ES:DI:=DS:SI; ES:DI+1:=DS:SI+1; SI:=SI+2, DI:=DI+2 falls
RF=0; SI:=SI-2, DI:=DI-2 falls RF=1

MOVSB erginzt um : CX:=CX-1; Befehlswiederholung, falls
CX<>0

MOVSW ergianzt um : CX:=CX-1; Befehlswiederholung, falls
CX<>0

"CMP AL,ES:DI"; DI:=DI+1, falls RF=0; DI:=DI-1, falls RF=1
"CMP AX,ES:DI"; DI:=DI+2, falls RF=0; DI:=DI-2, falls RF=1
wie SCASB ergianzt um : CX:=CX-1; Befehlswiederholung,
falls CX<>0 und CMP lieferte ZF=1 (- gleich)

analog REPE SCASB

wie SCASB erginzt um : CX:=CX-1; Befehlswiederholung,
falls CX<>0 und CMP lieferte ZF=0 (- ungleich)

analog REPNE SCASB

"CMP DS:SLES:DI" ("BYTE PTR"); SI:=SI+1, DI:=DI+1 falls
RF=0; SI:=SI-1, DI:=DI-1 falls RF=1

"CMP DS:SLES:DI" ("WORD PTR"); SI:=SI+2, DI:=DI+2
falls RF=0; SI:=SI-2, DI:=DI-2 falls RF=1

wie CMPSB erginzt um : CX:=CX-1; Befehlswiederholung,
falls CX<>0 und CMP lieferte ZF=1 (- gleich)

analog REPE CMPSB

wie CMPSB erginzt um : CX:=CX-1; Befehlswiederholung,
falls CX<>0 und CMP lieferte ZF=0 (- ungleich)

REPNE CMPSW analog REPNE CMPSB



